This Question Paper consists of NEW SYLLABUS 46 questions and OLD SYLLABUS 46 questions and 40 printed pages.
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General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper code No. 68 / ESS /1-C on the Answer-Book.

5. (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one

of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the Answer-
Book.

(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any
errors/ mistakes in understanding the question will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.
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IMPORTANT INSTRUCTIONS

This Question Paper Booklet contains two Question Papers - one based on revised study material
marked as NEW SYLLABUS and the other based on pre-revised study material marked as
OLD SYLLABUS.

NEW SYLLABUS is for those candidates who have registered for 2023-2024 (Stream-I, Block-I)

admission and are appearing in October-2024 Examinations.

OLD SYLLABUS is for those candidates who had registered before 2023-24 (Stream-I, Block-I)

admission.
Candidates are to answer only one Question Paper from the given two Question Papers.

Candidates are not allowed to mix questions from the given two Question Papers.
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NEW SYLLABUS / 59T UTIshH

GEOGRAPHY
(316)
Time : 3 Hours | [ Maximum Marks : 80
| : 3 9Ue ] [ gutiek : 80
Note : (i)  This question paper consists of 46 questions in all.
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iv) (a)

(b)

) All questions are compulsory.
i) Marks are given against each question.

Q. No. 1 to 16 Multiple Choice Questions (MCQs) carrying 1 mark each. Select
and write the most appropriate option out of the four options given in each of
these questions.

Q. No. 17 to 20 are Objective Type map based Questions carrying 1 marks each.
Question for Visually Impaired candidate in lieu of question no. 17-20 have been
given. You have to attempt only one of the given choices in such questions.
Q.No. 21 to 30 - Objective type questions carry 2 marks each (with 2/4 sub-parts
of 1 mark each). Attempt these questions as per the instructions given for each of
the questions 21-30.

Q.No. 31 to 40 - Very Short questions carrying 02 marks each to be answered in the
range of 30 to 50 words. Question No. 36 and 37 are map based questions. Question
for Visually Impaired candidate in lieu of question no. 36 and 37 have been given.
Q.No. 41 to 45 - Short Answer type questions carrying 03 marks each to be
answered in the range of 50 to 60 words.

Q.No. 46 - Long Answer type question carrying 05 marks to be answered in the
range of 80 to 120 words.

(i) THIA-I9H FA46 T B |

(i) |ty sfemd €1

(i) TF YT F G Hh I T )
(
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T faehedl § 9 Shelel Teh ol ST < |

T G 21 ¥ 30 - G aTS YRR ok U ¥, Uk h 2 3k § (2/4 SUNFI ok W
Yok %1 1 37%k) | U9 €& 21 | 30 Yo H & T YIS h SFTER T Y o SW S|
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68/ESS/1-316-C |

=135
3 E%g' [ Contd...



NOTE / g9t :

(1)
()

Answers of all questions are to be given in the Answer-Book given to you.

quft IE1 o W STURI & T IR GRaem 1 & foag |

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.

Y YIA-UF & Ued & fain 15 fiee 1 9u fean o €1 9v9-u o1 foaor Sl # 02.15 99 foRa
ST | 02.15 919 & 02.30 51 T BT haal Y- Sl Ui IR 30 74y & RH o IW-TReh T
FE IW T fer@ |
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The crops grown in Rabi season in India are :

(A) Moong, Peanuts (B) Maize, Sorghum

(C) Wheat, Gram (D) Cantaloupe, Watermelon
A H V&l T wHS H IR S #

(A) Hj'[ TRl (B) eI, SR

(©) T, = (D) GRS, RS

Arrange the items of current water use in India in the order from most to least and choose
the correct option.

(1) Domestic (2) Industry (3) Irrigation (4) Energy

(4 @1),@,6,@¢ B @0, 4@ 6 © 6,0 @G 1 O @ 06) 3 1)
A H M H S o ST % Hal 1 ATHE G HH 6 HA H Hared wifg R we fosmed #
=T HISC

(1) =R (2) (3) o (4) vt

(4 1,2, 6,@ B @06 © 6,0 @G 1 O @ 6) 3 1)
In India, 11 September is celebrated as :

(A) World Environment Day (B) National Forest Martyrs Day

(C) Tree Protection Day (D) Plantation Day

aRd H, 11 faawsr 1 forg &9 § q9man S @ 2

(A)  fova wier foaw (B) U o1 EIE fead

(C) T gran feam (D)  FERTo feom

Read the forest related information given in the box carefully and choose the correct option.

Found in areas receiving more than 200 cm of rainfall
Trees reach heights of 60 meters or more
Forests have dense and mixed vegetation of all types

(A) Tropical evergreen (B) Tropical Deciduous
(C) Tidal forest (D) Mountainous forest

S | < Tl a9 Hafd gEmell %l e ydes afet SR Wer foased & =9 hife |

200 THT. T Afereh a9 o1t &30 § T S © |
g 60 HieX a1 384 o eAfersh S de Tgad & |
o H G TRR ki T IR Thisd aeata Bl 2

(A) SWehiesHE HeRHRd (B) SWrkfesfe quiardt
(C) ORI a4 (D) e o



5.  Which of the following is the standard meridian of India ? 1
(A) 82°30 West  (B) 82°30 East (C) 78°30° West (D) 87° 30 East
frefafed § @ ®F-91 YRG 1 A4S TM=RR © 2
(A) 82°30 ufye®  (B) 82°30 [ (C) 7830 ufte® (D) 87°30 T

6.  Choose the correct pair from the following : 1
Mountains Examples
(A) Folded Mountains Weald
(B) Block Mountains Alps
(C) Dome Mountains Vesuvius
(D) Accumulation Mountains Fujiyama
Trfatea § 9 92 g9 1 == Hifs
Tdq STeluT
(A) afea qed e
(B) Al Ueid 3T
(C) =M vuq fergfereg
(D) H= veld RSl A
7.  The exogenous process that shapes the Earth’s surface is . 1
(A) Earthquake (B) Land Degradation
(C) Plate Movement (D) Volcano
Yoot i Tqg ! STHR oA ATl dfgsiid Fisham §
(A) g9 (B) s frremeor
(C) e Faer (D) e

8.  Who among the following was the first geographer in the true sense who built the structure 1
of modern geography on the foundations laid down by the classical geographers ?

(A) Ratzel (B) Carl Ritter (C) Humboldt (D) Emmanuel Kant
frafafed § @ =9 1ot # wgen e ®F o 599 I spieamst g feifia g =
STy il St HAT 1 FHior fopan o ?

(A) T (B) Tt fex (C) Wi (D) WA shid

9.  Who among the following used the word geography for the first time ? 1
(A) Griffith Taylor (B) Eratosthenes (C) Humboldt (D) Carl Ritter
Frefefed 3 9 fram el 3sa 1 94T Horl T o fohan 2
(A) fuftey eer (B) TERIAS (C) THEIE (D) Tt R
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10. Two statements are given below as Assertion (A) and Reason (R). Read both the statements 1
carefully and choose the correct option.
Assertion (A) : Higher the concentration of water in air, lower will be the density of air.
Reason (R) : The molecular weight of water is less than the average molecular weight of
dry air.
Options :
(A) Both (A) and (R) correct. (R) is the correct explanation of (A).
(B) Both (A) and (R) are correct. (R) is not the correct explanation of (A).
(C) (A) is correct and (R) is incorrect.
(D) (A) is incorrect and (R) is correct.

=1 31 e FUReT (A) 3R HROT(R) fET T E | 1 el ol eAgde afen iR War fashed #1
I HITSTC |

AURYT (A) : oY H Scrarsq ol Figl fat 31fereh SRt g 1 Scd 3a1 hH BT |
HRUT(R) : T I 7o 9R 56 a1 o 3ia sTfvas R ¥ &7 Tl

faaea :

(A) T (A) T (R) T § | R (R), (A) i TE =A@ B |

(B) M (A) T (R) W&l ¥ | FRI (R), (A) FT Tl =ARAT 7 ¥
Q) (A) W& B 3R (R) T T
(D) (A) 7o § iR (R) W2 B
11. Read the pillars of Sustainable Development Goals carefully and choose the correct option. 1
()  Human stability (I)  Economic stability
(III) Environmental stability (IV) Cultural stability
Options :

(A) Only (I), (II) and (III) are correct (B) Only (II), (III) and (IV) are correct
(C) Only (I), (II) and (IV) are correct (D) Only (I), (IIl) and (IV) are correct

Had fae ded o WAl %1 S Yds afet 3R W& fashey w1 == S|

() #Fa feerar (I1)  Tfefer feera
(IlI) TATeROf (IV) Hiehfden feer
faaea :
(A) e (I), (IT) T (III) =&t &1 (B) Thae (II), (II) & (IV) TEt ¥ |
(C) e (I), (I) T (IV) Tl §1 (D) e (I), (1) & (IV) &&t 1
12. The main development goal of the Millennium Development Goals (MDGs) is : 1

(A) Economic development only

(B) Environmental development only

(C) Economic and environmental development
(D) Economic and social development

HeoTs] fo @ed (MDGs) 1 THE o oed §
(A) e i fasmm

(B) el qATaRuiy ok

(C) T W qatavi faehm

(D) TR SR | fasma
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13.

14.

15.

16.

According to 2021, which of the following states has the highest Human Development Index ?

(A) Kerala (B) Karnataka (C) Maharashtra (D) Gujarat
frefafeaa 3 9 forg TF =1 A {9 ekl T 2021 % IR Hai=d § 7
(A) I (B) “hHicsh (C) e (D) TS

Which of the following is not a physical factor affecting population distribution ?

(A) Soil
(C) Topography

(B) Climate

(D) Awvailability of natural resources

Trefafed § 9 -9 SEe faaeor i gurfad s el Wifde shreh 78 © 2

(A) T4
(C) Teithid

3

Choose the correct option related to calculation of actual growth of population.

(A) Birth rate — Death rate
(B) Birth rate + Death rate

(B) STy
(D) UThfdeh HEEAT i IqcToHd

(C) Birth rate — Death rate + in migration — out migration
(D) Birth rate + Death rate — in migration — out migration

SEEAT i ATt gfg i TUHT § Haifed Wal fashed sl =& it |

(A) ST - JIX

(B) SHI + HIX
(C) TR — JIX + 3 Ja¥ — fia yard
(D) S + JI&X — A o™ — Fid gem
Match Column I with Column II and choose the correct option.
Column I Column II
(Minerals) (Major Mines)
(i) Iron (a) Chhindwara
(i) Manganese (b)  Singrauli
(iii) Bauxite (c) Ratnagiri
(iv) Coal (d) Amreli
(A)  (@)-(c), (i)-(a), (ii)-(d), (v)-(b)  (B)  (i)-(a), (iD)-(b), (iiD)-(c), (iv)-(d)
©)  @)-0), ({)-(0) (ii)-(a), @)-(d) (D) (@)-(d), (ii)-(b), (iiD)-(c), (iv)-(a)
WY 1 1 foem @Y 11 T FifSu R 91 foehed =1 =99 S|
wWH 1 W I
(@f=) (V@ @)
@) o (a) fEcame
(i) HTS (b) TEw
(i) SferTES (c) T
(iv) R (d) TR
(A)  (@)-(c), (i)-(a), (ii)-(d), (v)-(b)  (B) (i)-(a), (iD)-(b), (iiD)-(c), (iv)~(d)
©)  @)-0), ({)-(c) ({i)-(), )-(d) (D) @)-(d), (ii)-(b), (iiD)-(c), (iv)-(a)
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Note : Study the given map carefully and answer map based question numbers 17, 18, 19, 20.
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17.

18.

19.

20.

Note

T .

17.

18.

19.

20.

21.

Identify the mountain marked “A’” on the map. 1
(A) Andes (B) Rocky (C) Alps (D) Ural
e T 3Afhd ‘A’ T9d Tl Tg=H i |
(A) E (B) Tt (C) ey (D) T
Identify the current marked ‘B” on the map. 1
(A) Mozambique (B) Kuroshio (C) Norway (D) Gulf Street
A W SAfRd ‘B’ STAHRI i T8 i |
(A) st (B) SRLUfYRN (C) & (D) Te® EIZ
Identify the temperature of the ‘C" isotherm marked on the map. 1
e W Afehd ‘C’ THAY W1 & a9 i U89 it |
(A) 5°C (B) 10°C (G 15°C (D) 20°C
Identify the grassland biome ‘D’ on the map. 1
(A) Velds (B) Pampas (C) Downs (D) Canterbury
HHAT # Sifehet ‘D’ S 1 HEM ST hl T FHifory |
(A) oo™ (B) dHUH (C) == (D) hetad
: Following questions are for the Visually Impaired candidate in lieu of question no.

17, 18, 19 and 20.

frefeafaa wo e gieanfiua uienfat o fau wv= g 17, 18, 19, 20 & @M W E)
Name the folded mountain located in South America. 1
(A) Andes (B) Rocky (C) Alps (D) Ural
TferoT SRR § feerd dfetd weid w1 M sy |
(A) E (B) Tl (C) ey (D) T
Name the warm Pacific Ocean current. 1
(A) Mozambique (B) Kuroshio (C©) Norway (D) Gulf Street
TRII HETHR TTH €10 %1 T SiEg |
(A) st (B) SRR (C) (D) Te® EiZ
The average temperature at 40° latitudes in the Northern Hemisphere is : 1
ST Tt W 40° eIl <A1 S qIEE €
(A) 5°C (B) 10°C () 15°C (D) 20°C
Name the grassland located in New Zealand. 1
(A) Velds (B) Pampas (C) Downs (D) Canterbury
Sitete # feord =9 % HSM ol A9 iy |
(A) STd (B) (€) S (D) e
Answer the following questions in one or two words. 2

(a) The amount of salt dissolved in sea water is called .
(b)  Which salt has the highest amount dissolved in sea water ?

frfafad g9t =1 ST ek 1 St el | S|
(a) TS Sl H Yferd T ht WA R HEI ¢
(b) THE v H gferd fa Taor ot 9 waifys § 2

68/ESS/1-316-C ] 9
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22.  Answer the following questions in one or two words. 2
(a) Write the name of the father of Green Revolution.
(b) Write the name of the father of White Revolution.

FrAfafEad Te=i 1 W Tek A1 &F I&al § i |
(a) BRa wifd o S 1 M fafaT
(b) ¥ Shifd o STeh 1 M fafEw |

23. Read the given paragraph carefully and answer the following questions in one or two 2
words.
An area which has homogenous climatic characteristics and has geographic continuity is
known as climate regions. To create similar types of climate regions, various attempts have
been made by the scholars but there is no single perfect classification available. It is believed
that Greek philosopher, Aristotle, probably made the first attempt to classify Earth’s climate
on the basis of insolation. He divided the world into three thermal zones viz. torrid zone,
temperate zone and frigid zone.
(a)  What type of climate is there in the polar region ?
(b)  What type of climate is there in the equatorial region ?

fou 7o TrmE Y e @ ufen 3iv ffafaa woet st S U O 9 vl W difsm)

T & e Taey ey fasiodnd qen e fRaar o St §, S9 Siorerg & & &9 § S
ST €1 THH YR &% Srar] &5 St Teu w & fag, fafy= fagri grr fafi= yamg foeg o g
TAfRA Teft Tk I Teleh MRV ITTedl &l ¢ | I8 |1 Sl © Tof ek qreffies, oweq 1 Hvyerm:
AT o STUR TR YAt St SITaTg hl fiehd i 1 qaudd JamH foran o1 IR0 g &1 o
i &l o oS foran st SwTeRfedei &, Fueiare &= a0 3iid shicadfia &= |

(a) yaa &= H fFE yaR o Seraryg © 2

(b) HERGENE &9 § fhg YR fF Searyg €2

24. Match Column I with Column II and choose the correct option. Y2x4=2
Column I Column II

Major port of Gujarat i)  Kochi

Eastern Terminal Station of East-West Corridor ii) Palampur

Major airport in Kerala iii) Kandla

a (

b (

C (

d) North Terminal Station of North-South Corridor (iv) Guwahati
(
(
(

o~~~ o~
N N

v) Srinagar
i

vi) Silchar
vii) Tuticorin
i 1 1 T8l THeT shie 11 9 SIS
i I i 11
(a) TSI 1 W AT (@) =
(b) Ya-uf=m TfER &1 Gl <fHiaa 2vH (i) IR
(c) o feord yq@ gamg gl (i) hIS
(d) STR-cfaror T w1 ST 2 fHTA wIE (iv) TRl
v) HTR
(vi) fEe=R
(vii) TTeRIRA

(=113, =]
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25. Fill in the blanks with appropriate words : 2
(@ is the principal body of the Government of India coordinating the
Sustainable Development Goals with the ministry associated with each goal.
(b) It is a set of agreements on 17 universal goals adopted by world leaders from 193

countries at the 70t session of held in September 2015.
SR v B fe T R i
(a) IRA THR T TIE T T S JA% a8 9 S HACE & 19 Fad fas
e T THAT L @
(b) TadeR 2015 =l RIS % 70 S T H 193 <M o faed "areti §RI o9 T 17
gralsiifies Tedi W R Tu wwEidl & g 7
26. Answer the following questions in one or two words. 2

(a) Name the process of weakening and breaking of rocks.
(b) Name the process of removing, lifting and blowing dry and loose particles of sand and
dust by winds.

Frefafed Tei 1 T 91 Q0 el H§ W S|
(a) TEHI % HHSIR TR <24 i Tfshan o1 71 fafaw |
(b) el GNI A IR g & YW IR Sl HUN I g, IS 9 IS i fshan =1 am fafam |

27. Answer the following questions by filling in the blanks with appropriate words. 2
(a) increases the volume of water at river ports so that large ships can sail
safely.
(b) The pattern of ocean circulation matches the pattern of the Earth.
Frefafaa agt 1 ST Sugea vieg g1 Ream T &t gfe grr difste
(a) Y S ISR W A 1 ST 9 Sl § 99 9 e g €9 9 Ae@d
TR S |
(b) TRETRIY TRETRY 1 WET G h IR &Y 9§ A @ g |
28. Match Column I with Column II correctly. Yax4=2
Column I Column II
(a) A factor affecting atmospheric pressure (i) Bora
(b)  Factor affecting the speed of wind (i) Pole
(c)  Alocal hot dry strong wind (i) The Earth’s internal temperature
(d) A local cold dry winter wind (iv) Shell
(v)  Coriolis force
(vi) Water Vapour
(vii) Fohn
Tl 1 o1 W&l el shietd 119 it |
it I it 11
(a) TTIHSH TE hl GHIId H ATl Th FHRH G 9N
(b) TS I T I GHIfd LA ATl HReh i) ga
(c) T M TH Y&k a1 gall (iti) eIt T STTARR AT
(d) TH A 3 Yok T el (iv) &
(v) wiRelfad aa
(vi) TeTeTsy
(vii) ®I

(=113, =]
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29. Answer the following questions in one or two words. 2
(a) Give an example of the depositional plain formed by the rivers in India.

(b) The Canadian Shield is an example of what type of plain ?
Fretfeiaa ag=t ot ST ek o1 &F 9Tegl | Siwig |
(a) 9Ra H 7t g1 FfHa fgones 35 1 SR i |

(b) HAIFEa e fhe YR o HIM I 3T § 2

30. Read the given paragraph carefully and answer the following questions. 2

The climate of an area is influenced by the distance from the equator. The places
located near the equator are warmer than the places located away from it. Equatorial areas
receive more heat as intense vertical sun rays fall on a small area wheras Temperate and
Polar Regions receive slant rays which are less intense. Maldives is located near the equator
which experiences a hot climate whereas Switzerland is situated far away and has a cold
climate.

(a) Why does the equatorial region receive more heat ?
(b) Why is Switzerland colder than Maldives ?
feu TTu T/ W sAYde ufen iR FAfataa weHt s ST S|

foRelt &1 i STetaryg SHent stefiei fefa | woifod St ©1 J7ed Y@ a0 s6eh STH- feed
T 388 R feora Toml t gern ® e 2 ¥ 1 5t shror fafir sratiet W feerd T W T gty
T H fa €1 ymeREE &5 1 stftren 3w U Bt § wifr RT g i dier oiR Seaier Rt v
BIC T & T IS & T S Teh DI & I TH AT Bl § | Saifch TR iR gei &5 i fowst
ToR0l 9T 2ieit & SIeRT <fierdl =6 il & A S78 Teh oS &1 ol 9 o1 B1dl & | HIetarel WA 3l o I
feora & 1 T SioTag BT STE ST § STeifeh gl X e ¥ SIR aei i Setarg St ¥
(a) EEA W& & 1 A ST Fl 9 2l § 2
(b) TETSeie AeRd foh T a1 =i § 7

31. Describe two main features of the Eastern Ghats of India. 1x2=2

RA o 4 derd HeM i af 9@ fomioameti a1 aviF Hifs

32. Explain any two socio-economic effects of Green Revolution. 1x2=2

gfia shifd & foregl < TrfSTer-amfefer garmal ol =ame Sifsia |

33. Explain the importance of rail transport in India in two points. 1x2=2

9Rd § ¥ qRaeT & 78 i o fagsll § v sifsm |

34. Explain two main objectives of the Earth Summit in 1992. 2

1992 | qeal FHEH o €1 WHE Se¥dl hl T ST |

(=113, =]
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35. Explain any two achievement of Millennium Development Goals.

TeHes! fasme aedi st TRl Q1 STaferl sl T Shifed |

36. In the given physical map of India, mark the following with appropriate symbols and write
their names.

(a) Narmada River (b) A strait between India and Srilanka

feu U wRa & yiehfaes T # frefafea o1 sugea fas @ sifea wifse 3ik e M fafew |

(a) T T (b) 9RA 3R dicisht & AL Th TISHEHHA

Note : The following questions are in place of question number 36 only for Visually
Impaired candidates.

(a)  Write the name of the river that flows parallel to the Narmada river and falls into
the Arabian Sea.

(b)  Write the name of the strait between India and Srilanka.

e ;. refafEd U9 shad gieanyd il & iy g9 @& 36 & T W)

(a) TSI TSt AN & aTell o1 e 9P H i aredt <t st 7w fafa |

(b) WA 3R et & AL Th SoeHen=d & 94 fafay |

37. In the given physical map of India, mark the following with appropriate symbols and write
their names.

(@) The main river of Rajasthan which falls in the Rann of Kutch.

(b) Highest peak of Himalaya in India.

QU U RA o WThfaes AHfe # fr=fafad o1 S9gea fa= 9 sifeha sifsre 3iR e M fafaw |

(a) TSN ! Y@ oI S o o O § fRat g1

(b) 9RA H feurer™ &I Fod e = |

(=113, =]
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Note : The following questions are in place of question number 37 only for Visually
Impaired candidates.

(a) Write the name of the main river of Rajasthan which falls in the Rann of Kutch.

(b)  Write the name of the highest peak of Himalaya in India.

e Frefafea woa shae gieartia udtenfeial & fau uos 9@ 37 & @\ W g

(a) TSN H Y@ < 1 T8 fafay s Fes & 1w frd §)

(b) 9IRGB fedrer & ged = =Rt A fafa)

38. Describe two important characteristics of dry deciduous forests in India.

RA H Y qUIT o bl <1 TE ToRIsaisti sl 9uH shifsa |

39. Name two states which have achieved the highest score in the index due to tackling hunger
and improving the quality of students.

@ § 727 3iR B i Jorer § GUR % HRU Yaehich § Ioaan WhI ! el S arel 3 Tl
=1 W fefEw |

40. Answer the following questions based on the given map.
(a) Name the state having maximum number of wildlife sanctuaries.

(b) Name the North - Eastern state of India which has 11 wildlife sanctuaries.
feu U qAfes & oMuR R fF=fafed web & 3w SN |

(a) HoH 3TUE TSa STYIARTY aTet ToF 1 AW faf@n |

(b) WRd % I Yol I k1 9 fafa Sief 11 s=eia s1vare €1

(=113, =]
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Note : The following questions are in place of question number 40 only for Visually Impaired
candidates.
(@) Name the state having maximum number of wildlife sanctuaries.
(b) Name the North - Eastern state of India which has 11 wildlife sanctuaries.

e : Frafataa ue e gfeanfia wdenfat & fou v g 40 & o w ¥
(a) GG HH F=ISia IR Gl T ki T4 fafaw |
(b) 9RA % W - Yt TF 1 M fafEe S&f 11 F=sia $TI) § |
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41.

42.

43.

44.

45.

46.

Describe three characteristics of Piedmont Plateau. 1x3=3

faeric R =i i1 fasoamet =1 9| Sifsu |

Explain the three main reasons for the decline of biodiversity. 1x3=3

Sta fafaedr & 3@ & dF T FRN 6 T Hif |

Describe three human induced causes of climate change. 1x3=3

ey, IR o T JHE SITd SROI ol U ShifTa |

Explain the importance of water resources for life in three points. 3
Sited o AT STat FE1eA < 78 i diF fagsll § T it |
OR / e

The distribution of underground water is uneven in India. Explain three reasons for it being
uneven.

IRA § YT STel o1 foaXo STHHM § 7 3THHM B o i SRV ohl I hiTeT |

How do the Mountain ranges of the North affect the climate of India ? Explain in three 3
points ?

IW I T AT fohd TR YR STerarg, b1 gefed st © 2 i fogsii # e wifsw |
OR / e
How do monsoon winds affect the climate of India ? Explain in three points.

A 999 foRE YR 9RA i STeray a1 Jeifod it € 2 i faigedl # e shifee |

Describe the characteristics of sex ratio in India in five points. 5
Ra § fermara ot foroasti o1 ui feigedi # aui wifs)
OR / 3reraT

Describe the linguistic classification and distribution of the population in India. Which
language family is spoken by most people in India ?

URA H SHEEA & AT fieRor 37X faawor o1 9uiq swifsa | forg o 9fiar =61 vrd & Tad 31w
N SieTd @ 2

-00o0-
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OLD SYLLABUS / YU UTcAshH

GEOGRAPHY
et
(316)
Time : 3 Hours | [ Maximum Marks : 80
|HT : 3 90 ] [ gutiek : 80
Note : (i)  This question paper consists of 46 questions in all.

(

5

i1)
iil
iv

|

All questions are compulsory.

Marks are given against eacﬁ] question.

For Optional Module, all questions either from Optional Module I or Optional Module II

in all sections.

(@) Q. No. 1 to 16 Multiple Choice Questions (MCQs) carrying 1 mark each. Select
and write the most appropriate option out of the four options given in each of
these questions.

(b) Q. No. 17 to 20 are Objective Type map based Questions carrying 1 marks each.
Question for Visually Impaired candidate in lieu of question no. 17-20 have been
given. You have to attempt only one of the given choices in such questions.
Q.No. 21 to 30 - Objective type questions carry 2 marks each (with 2/4 sub-parts
of 1 mark each). Attempt these questions as per the instructions given for each of
the questions 21-30.

(c) Q.No. 31 to 40 - Very Short questions carrying 02 marks each to be answered in the
range of 30 to 50 words. Question No. 34 and 36 are map based questions Question
for Visually Impaired candidate in lieu of question no. 34 and 36 have been given.

(d) Q.No. 41 to 45 - Short Answer type questions carrying 03 marks each to be
answered in the range of 50 to 60 worgs.

(e) Q.No. 46 - Long Answer type question carrying 05 marks to be answered in the
range of 80 to 120 words.

TG YT | Fel 46 T € |

[edt g erfremt )

TF T & A e G T ¥

Sehfeeh Aiedl o foll |fl U9 A1 1 Shfodeh Hie o [ A1 denfcush Aiegd 11 % 94l el &

W fafan |

(a) T HEA 1Y 16 - TGfOHcIE THR & T ©, S T 1 37 17 1 39 T § Toh °
3 T =R fashedi § § 9ad Iuge fashey g iR fafaw | 578 & $= uei # o7
faeprea fod 73 €1 U weAl | stvent fod M foehedl ° 9 e Th SW AT | |

(b) U HEA 17 ¥ 20 - TS THR & A MR T4 €, S I&H 1 3 A |
gfteanfia udieneft o fore wed Hem 17 9 20 % WA Wy iR M g1 8wl § 9 fou
U fashedi B ¥ Hael Teh FHl SW < |
T @ 21 ¥ 30 - doh TETSS YR o U9 ¥, Uk o 2 3k € (2/4 SUNTH o 9@
T I 1 31eh) | TR GEAT 21 § 30 T H & TS FENS! ok STIER 37 WAl o WS |

() Y T 31 W40 - 3Id Y U €, T % 02 37k § IR I kT WA 30 50 I ¥ |
T HEA 34 TE 36 HHES SMHRG I99 € | gfeanfya wianeff & fau g den
34 TH 36 % TM W ¥ fau M ¥

(d) T HEA 41 9 45 T ST YRR FH U T, TF F 03 37k § iR IW w1 Hm
50 § 60 I T |

(€) U WA 46 — <l ST Yk h T &, TH 05 37 § IR ST I HHI 80 F 120 I T
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NOTE/fd9r :

(1) Answers of all questions are to be given in the Answer-Book given to you.
[eft gl o I 39T & TR I gfent | 7 forg |

(2) 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.

Y YI-UF & Ued & fag 15 fme 1 g9 faan mn €1 93-u o1 foaor Sl # 02.15 99 foha
ST | 02.15 SIS & 02.30 91 Tk ST Hael G¥-T7 Sl Ui IR 30 7afy & A o IW-Rash W
HIE IW T ferai |

1.  Which of the following techniques are not used for study of geography ? 1
(A) Cartography (B) Pie method
(C) Quantitive method (D) Regional science method
difaes s1eea & fau frafafaa § 9 faa aee o 93 =1 fwan s ?
(A) " foam (B) TR fafy
(C) e fafy (D) WRfer famm fafy

2. What is the sex ratio of India according to the census of India, 2011 ? 1
(A) 927 (B) 943 (C) 843 (D) 972

IRA i SFATUMET 2011 % 3TTHR 9RA 1 feftm ST =7 & 2

(A) 927 (B) 943 (C) 843 (D) 972
3.  Which state of India has the highest percentage of Net-Sown area ? 1
(A) Punjab (B) Utter Pradesh (C) Maharashtra (D) Haryana
IRA % T g o o9 31fee g s T &1 6 g § 2
(A) U (B) W UW (C) ¥eNe (D) =i
4.  Which one of the following is not an example of Active volcanoes ? 1
(A) Stromboli (B) Krakatoa
(C) Barren island (D) Kilimanjaro
frefafea & SF-o1 g Saremget &1 T el T § ?
(A) et (B) TR
(C) S Fu (D) foesiRl
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5.  Which of the land features are not produced by river in its lower course ? 1

(A) 'V shaped valley (B) Meanders
(C) Flood plains (D) Delta
et 319 et Art # fafafad # 9 ford woemsia 1 = T8 it 2
(A) 'V 3Thfd i =t (B) faud
(C) e & HeH (D) @
6.  Even after the sunset the air near the earth’s surface continues to receive heat by : 1
(A) Insolation (B) Terrestrial radiation
(C) Conduction (D) Convection
A & 9IS ot IgHvS fREs g1 T 2T T § 2
(A) AT R (B) ffa faferor gra
(C) e g/ (D) Heed gr
7.  Sundari and Mangrove trees are found in which of the following forests ? 1
(A) Deciduous forests (B) Evergreen forests
(C) Tidal forests (D) Thorny forests
el den B get foRd YR o ol B T S | ?
(A) T a4 (B) H@BR o
(C) Soma = (D) et aefa
8.  The phenomenon in which temperature Increases with Increasing altitude is known as : 1
(A) Temperature anomaly (B) Inversion of temperature
(C) Lapse Rate (D) Insolation
AHEA ® Tk UE feafa o SomE e o @1 daEe off Sl §, el | ¢
(A) 9 SFEIA (B) g feretrar
(C) 9N sl | ¥ ST ) RIGEE]
9.  Name the warm current which flows off the east coast of South East Africa ? 1
(A) Benguela current (B) Canaries current
(C) Mozambique current (D) West Wind Drift
SfRofi-ell SThIeRT < Y& de < |1Y o8 ATl TH Sl R SR A 991§ ?
(A) SITUCT &R (B) HART #RI
(C) HiSfterk g (D) uf¥=H 9aq sTarE
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10. In which part of the country is the Irrigation done mainly by tanks ? 1

(A) Utter Pradesh (B) Bihar
(C) Rajasthan (D) Peninsular Plateau
<1 o form 9 H el g = 6 e a7 2
(A) W YW (B) fe=r
(C) TSEIH (D) GG UeR
11. Which one of the following is the most wide spread and most productive category of soil ? 1
(A) Alluvial soil (B) Laterite soil
(C) Black soil (D) Red soil
frefafed § 4 FH-9 91 R & god 1fus eeha W fasgd § 1 o gl i SuTs § 2
(A) STl T (B) THeXEE T
(C) hredl Tal (D) et H1
12. What causes rainfall on the coastal areas of Tamil Nadu in the beginning of winter season ? 1
(A) South-West monsoon (B) Temperate cyclones
(C) North-Eastern monsoon (D) Local air circulation
AMTg o g Wl o Iia-ag & TRET § 991 @ o 91 HRUT B 2
(A) Sfeoii-ufeed ArH (B)  SfIdrse =gkt
(C) Iad-gell "FgA (D) FIH o1 e =R
13. Atmosphere is heated by : 1
(A) Insolation (B) Heat Radiation from the earth
(C) Both of them (D) None of them
AHTSH TH BT §
(A) AT R (B) 9o NI BIEH T AT 5R
(C) THI wfshansii gr (D) ot & gr =it
14. The best fishing ground in the world are located in which of the following areas ? 1
(A) Continental shelves (B) Abyssal plain
(C) Submarine trenches (D) Ocean deeps
forga =h1 waliem weed Teviar frefafad & forg gier & qrg s € 2
(A) WG e Te (B) fodat fgm
(C) 3fd: Tt Td (D) HEMEIE TR
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OPTIONAL MODULE -1

Aehfcaeh AISTe - I
(Local Area Planning)
(TATHT G T )
15. Which one of the following problems is not related to growth of economy ?
(A) Irrigation (B) Environment
(C) Means of transportation (D) Availability of power
sreferewen & gfg ¥ Trefea guen fefafad § § wiE- 726 § 2
(A) o= (B) wRTeR
(C) ufRe=T & |ed (D) Sl ot JqcreHdl
16. Which of the following are not still operating narrow gauge mountain train ?
(A) Himachal Pradesh (B) Jammu and Kashmir
(C) West Bengal (D) Tamil Nadu
frfafead § § ®H-91 T 31ft I BIel A8 bl 9eldt ¢ 7él el @l © 2
(A) fedr=e qew (B) 9] FTHR
(C) f=e e (D) dfHerTg
OPTIONAL MODULE - II
Jehfedeh ASTe - 11
(Geography of Tourism in India)
( ¥RA § gHeT &t i )

15. Which characteristics is not related to a slum locality ?
(A) Low level of per capita Income
(B) Development of means of transport
(C) Absence of bare minimum social amenities and facilities
(D) Prevalence of Insanitary conditions

frefafed § wR-9 forioa dfeam st i 78 © 2
(A) i e 31 A1 1 &R

(B) uftasd gl 1 foeshm

(C) —gAqH AR g@ el IR glaensti & sAamE
(D)  erEarssa ot feafaar Theft wdt €

16. Which of the following city is not the part of Golden-Quadrilateral ?

(A) Delhi (B) Nagpur (C©) Chennai (D) Kolkata
frefafed § H-o1 TR @ity =g = fewm T2 €2
(A) oot (B) ATYX (C) == (D) SRIcTeRM
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Note : Study the map carefully and answer map based question numbers 17, 18, 19, 20.

e : feq T wrfa T WEeTYde AT HIFAT q9T AHaA W MR Y91 G& 17, 18,

19, 20 R IR ST
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The territorial waters of India extend into the sea to a distance of twelve nautical miles measured from the appropriate base-line.
The External Boundary and Coast-line of India shown on this map agree with the Record / Master Copy .
certified by the Survey of India, Dehra Dun, Vide their letter No. T.B. 1358/62-A-3/A 1st. Published by : VIDYA MANDIR, New Delhi.

17. Identify a volcano marked as ‘A’ : 1

(A) Maunaloa (B) Krakatoa (C) El Asnam (D) Etna

‘A’ B9 H fafgd ST et i 989 &

(A)  HHRART (B) ShTehIEIS (C) TA 3 (D) T
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18. Identify a volcano marked As ‘B’ : 1

(A) Vesuvius (B) Mont pelne (©) Kilimanjaro (D) St. Helens
‘B’ % &9 ¥ Tafgd Saram@! s 9gem &
(A) fogfera (B) Hie Tem (C) Tehefr (D) A% Terd
19. Identify a lava plateau marked As ‘C" : 1
(A) Drakensberg plateau (B) Kimberlay plateau
(C) Parane plateau (D) Ethiopean plateau
‘C’% &Y ¥ fafed <ol 98N i 9g= i
(A) Sh=HeRT TSR (B) fehrared weR
(C) ™H Y8R (D) 3AYIT 4R
20. Identify a trench spread on the west coast of South America marked As ‘D’ : 1
(A) Kaurile (B) Peru-Chilie (C) Tonga (D) Mariana
‘D’ % w9 H fafea <faolt siftem & wfterdt 92 w el @i 7t ve=m =i
(A) T (B) TE-feredt (C) 2m (D) e
Note : The following question for Visually Impaired candidate in lieu of question no. 17 to 20.

e et fau T won haet gftede ufterfial o o wom de@r 17 920 & wH W

17.  Which one of the following volcano is situated in Asia ? 1
(A) Maunaloa (B) Krakatoa (C) El Asnam (D) Etna
frafafaa & & i1 saremga! ufewn # fea 82
(A) AT (B) ShThIEIST (C) TA 3= (D) T

18. Which of the following volcano is situated in North America ? 1
(A) Vesuvius (B) Mont Pelne (©) Kilimanjaro (D) St. Helens
Frafafead § @ sF-91 SSTarEt 3T -smike # fed T2
(a) fagfaas (B) Hie Yo (C) Tereftasin (D) ¥ Taw
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19. Which of the following lava plateau is located in South America ? 1

(A) Drakensberg plateau (B) Kimberlay plateau
(C) Parane plateau (D) Ethiopean plateau
frafafaa o 9§ A-91 A wer sl st § feor § 2
(A) SHH TSR (B) fehwereil weR
(C) WM WeR (D) 3AIA WBR
20. Which of the following trench is spread on the west coast of South America ? 1
(A) Kurile (B) Peru-Chilie (C) Tonga (D) Mariana
frafafea # ®R- @R Sfal smfte % afted fmm = e 82
(A) F (B) we-fad (C) = (D) e
21. Match the following : Yax4=2
Types of farming Chief Characteristics

[}
~

Subsistence farming i)  Practised in the area of high Rainfall

Wet farming Most of the production consumed locally

_ o
=3
~—

[
. =
. =

@]
~

Shifting cultivation iii) Practised in the area of low rainfall

(d) Dry farming iv) Forests are cleared for raising crops
e wifs
N UG & TEHR i fagreeTd
(a) Sfre-frafe wfu (i)  3Afeek ool et & § ST S
(b) SE-HH (i) ICACH o ATLHIY TN R LI ST H @Iq g
() TIA i (iif) 379 O ok & H YR ST
(d) T FHf (iv) STl Sl SRR HHA ST AT ST
22.  Answer the following questions by filling appropriate words : 1x2=2

(i) Geography has three main branches : Physical, Human and

(id) is concerned with the study and explanation of physical phenomena,
encompassing the other such fields like Geology, Meteorology, Zoology and Chemistry.

ﬁaawr—haﬁﬂﬁq
(i) e # I g e difdes, Jee iR g

(i) e TREreATST it e 9 T HIT 8, WA & I7 FIviers 1o fagm,
ST faam iR TErEerE 9 off SR
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23. Answer the following questions by filling the appropriate words : 1x2=2
(A) Isostasy means

(B) Endogenetic forces often the crustal balance.
T Tom R
(A) yHed dqed 1 19 § |
(B) sTidRer wfemal TR JUdet & HIe i Tt ¥
24. Answer the following questions in one or two words : 1x2=2

(i) Name the city where Sugarcane Research Institute is located.
(i) Which state is the largest producer of Rice in India ?

Frfafed g9l & ST Tas 91 € &) H A
(i) S Ve K AT ALY Sl TR T I L T §
(i) 9RG H HE-G1 TT Tl A =g SeaeT HIT © 2

25. Read the following passage carefully and answer the questions in one or two words. 1x2=2

The Great Northern Plains extends from West to East, between Himalayas in the north
and Great Indian Plateau in the South. The area of this plain is more than 7 Lakh Square km.
This Plain is almost dead flat. Its average height is 200 metres above the mean sea level. The
relatively higher part of the plain is called Bangar. This area is never covered with flood
water of the rivers. Contrary to this, the comparatively lower area is called the Khador. The
Great Northern plain can be divided into four parts.

(i) What is the area of the Great Northern Plain ?
(i) How many parts of the Great Northern Plain ?

FrAfafea S=e ol GrauTivdes 3Teaa™ ity 31X fau & w9+t &1 ek 91 &F 91aai § 3T
it

IR foremet B ferrera & <faror # qen yRd faenet wer & S # ufvem | g q fasga T
30 HSH H1 &Fd 7 ArE o foraiiieX 9§ sifuss B 1 9% 83 TeheH HUle SR §HAd § | 9E 99 9
TOh! 3G SaTE T 200 HieX ¥ | HEM % TSR 9 91 1 SR hed ¢ | 39 9 H Afei
G 1 IHT & TGl | 3T Taadid WieR Hem o1 STieighd e 91 8 1 394 fawmnet figm 1 9r i
H fafer foran < gemar €1
() T foemet HSM w1 Fe SR foha § 2
(i) A forenet B o fhan ami # fawfsa foran s & 2

26. Answer the following questions in one or two words : 1x2=2
(A) What percentage of population Live in Urban Areas in India as per 2011 census ?
(B) Name the state having lowest sex ratio in India.

frAfafEd geHi & S Tek A1 & I | ST

(A) 2011 ! SFIUAT o FTHR YRA i FHel S 1 ford gfaerd 9 T & § fema swian
8?2

(B) HaH ¥ folv STIu ATl TH 1 A/ wdET |
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27. Answer the following questions in one or two words : 1x2=2

(A) What is India’s position in Human Development Index according to Human
Development Report-2005 ?

(B) Name any one State of Northen India whose HD is below National average in Human
Development Index.

frafafed ge=i & S| Tes a1 Il # Y
(A) Ae fasmE RAR- 2005 % FATIR AH fohE Faehich § 9RA I F1 TH © 2
(B) W ¥RA % Tohell Uk T o1 W faAfae STl e foshrd Ferehich TP Sid | e T

28. Read the following passage carefully and answer the questions in one or two words. 1x2=2

The total land area on which crops are grown in a region is called net sown area.
Punjab, Haryana, West Bengal, Uttar Pradesh have the high proportional share of NSA
than the national average. When lands are left unused to regain their lost fertility in a natural
way is called fallow land. The fallow land occupy about 7.5 percent of the total reported
area. The states of Mizoram, Tamil Nadu, Meghalaya, Bihar, Andhra Pradesh and Rajasthan
have a high percentage of area under fallow land.

(A) Name any one state where Net Sown Area is high in comparision to National average.
(B) Name one state which has a high percentage of area under fallow land.
fau & =R T Wraenfgden SteaE ShifSTT e S fou T uvel T Uk A1 € visdl W 3w
gt

Trgut e f5 R wHe I S € Y5 S 1 &5 e § | S, Ramn, afvem s,
IR Y S T H Y5 ST T & R SIAF U9 T STU H RIE e § 5 4T
TTehfieh T 9 qF: 3 ekl U hid o GIel SIS o Sar 8 @ 39 9l fH el s © | Hf
qfiert 7.5 wfaerd ot gfn & &9 H e S §1 fisim, aftrerrg, ferer, faRr, sty wew T
TR S T § It ff o1 wfaera siemsha siferes 7
(A) el Tk T 1 A Tl 9 YE S T Sna TR S § oI § 2
(B) Tl sk o o1 A wated, e Wt yfiy o1 wfawra stdensd fe €2

OPTIONAL MODULE - 1
Yehfeaeh AISTe - 1
(Local Area Planning)
(It & ST )

29. Answer the following questions in one or two words : 1x2=2
(i)  State the two types of Information that form the contents of the questionnaire.

(i) Name two criteria which are necessary for the Identification of a sample.
frAfafEd gl &1 W Tek a1 & =al H I

(i) TEEE P A I WHR H SRS T |

(i) T I TEEH % AT STEREe q AMSTS FAm |
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30. Answer the following questions in one or two words : 1x2=2
(i)  Write the two merits of Arithmetic mean.

(i) Describe any two steps for primary data collection.
frfafed geei o1 3T Ueh a1 & 9&al | UM
(i) ST HIed & Y 07 AT |
(i) AR STThST TR & H&A Q FIAM! 1 TUH B |
OPTIONAL MODULE - II
Jehfeueh ATSTA - I

(Geography of Tourism in India)
( W | e T gt )

29. Answer the following questions in one or two words : 1x2=2
(i) What should we do to improve tourism ?

(i) Out of the International and domestic tourists, who are the providers of foreign
exchange ?

frAfafEd geHi & S Tek a1 I | ST
() T I 9B A o faIw TH R KT =Y ?
(i) SToRiegr oi Tuht vt W, faceh fafw= A wem *ar &2

30. Answer the following questions in one or two words : 1x2=2

(i) Give two major negative impacts of mass tourism on the local youth alienating them
from their our cultures.

(i) What affects badly the temple sculpture at Khajuraho ?

frafeafed geei & S| Tes a1 =) § Y

() SIS % T IS TRNIcHE THIE! ol IART S AT AT hl ITh! ST HERId F ST
FLEE

(i) TRl % Af<X T g 1 Fa1 ot T gofad e § ?

31. Explain any two importance of continental self for human being. 2

Tergrdtg f79 92 1 O & fou o wed ® 2 o=l 1 o1 ovia shifse
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32. Give two main advantages of non-conventional sources of power. 2

-9 Sl 9 forsiell T i & &hIE o oY &arsy |

33. Whatis a Biome ? Describe the classification of Biomes on the basis of climate. 2

e 1 € ? 5o 91 % STHR W e o iR o U shiferd |

34. On the given outline map of India mark and label the following : 1x2=2
(A) An Iron and steel plant of Odisha.
(B) Iron ore deposit in a Jharkhand.

feu T aRa % Terifas amfes B f= 1 Suge ol ot Semen @ gIiEy 9 s M fafa
(A) Siifeem # feed T wieT s g |
(B) wRGE ¥ fiod T dig 195k hs |

Note : Question for Visually Impaired candidates in lieu of question No. 34.
(A) Name the Iron and steel plant situated in Odisha.

(B) Name the center of Jharkhand state where Iron ore is found.

e =rer feam T wv Shae gfeds udtanfeia & fou uve g 34 & e W
(A) slifeen H feord wiel 39uTd v sl A4 B |
(B) HREUE TH I WIS ST I Tk 5 Al e 3Tk 1 T foral STl § 1

35. What are tides ? How are they caused ? 2
SR 912 31 € 7 I8 cq1 Bd € 2

36. On the given outline map of India, mark and label the following : 1x2=2
(A) Oil producing area in Arabian sea near to Maharashtra.

(B) State in India having the highest density of population according to 2011 census.
= fou T wRa & "Efes ° T Sl Sugaa 9@l 6l T 9 Swisy 991 3 AW fafe
(A) W& |FR H TERE T3 & 9H9 Th Tifcrad 3cieeh & |

(B) 2011 T SIIUMI o ATHR HRA ol FoId Uk SHUSA ¥ el 154 |

Note : Question for Visually impaired candidates in lieu of question No. 36.
(A) Name an oil producing area of Arabian sea located near to Maharashtra coast.

(B) Name a state with highest density of population in India as per 2011 census.
e e feam T wvn Shae gfedq udtenfelel & fu uos G 36 o W W Y

(A) °Rd R H TeRIE & Y fEora Yifeem Scaces & 1 919 Jaist |

(B) 2011 ! SFIUMT % STIER YR % fohd T H SEE o God S1f¥eh &, <l 18 oIy |
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37.

38.

39.

40.

38.

39.

40.

Which are the main objectives of river valley projects ? Describe any two.

S =t afEeeH % Y sevd @ € 2 fRl & W avia st

OPTIONAL MODULE - I
Yehfeaeh AISTe - 1
(Local Area Planning)
(AT & TS )
Suggest two priorities of planning for the Improvement of a slum area.

Tfer &t & % GUR % fau e = 1 mefiewand sds |

Explain two merits of mode.

TG oh QI T 1 UM A |

Define the following terms :

(i) Pie Diagram

(i) Median

ereAferfea sreai st g =i
(@) T TRE

(ii) IR

OPTIONAL MODULE - II
dehfeaen AISTe - 11
(Geography of Tourism in India)
( URA W gde st Y )

Spell out four major steps required for increasing the tourist arrivals in India.

A H THeeh 3T H gig o Ay Teavdesh 9’ & Yac ol Jasd |

Name two types of Invisible exports through tourism.

T o g 31gY Fafdl o < WehR o 1 S |

Describe any two problems created by mass Tourism.

S T 9 B arelt TRl < THeed ol 9ui e |

41. What is earthquake and how is it caused ?
Jehtd ford e © 7 T8 3TH o T HR0 FM S 7
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42.

43.

44.

45.

46.

What is the meaning of watershed development ? Explain four benefits of watershed

development.

SAHR T 9 == Y™ § 2 SR foerr 9 faem el forl =R eyl k1 oo shifsia

OR/a12raT

1+2=3

What is the meaning of Rain water Harvesting ? Explain four methods of Rain water

Harvesting.
YT STeT B ¥ R ATYYTT T 2 961 STd WU kit fohgi =R faftrl vt =amen wifsa |

Define the water budget. State the two units of measurement of water.
SICTSISIE S o 37ef § 7 et shi S Hideh Soh1gAl o I Saigy |

OR/3aT
What are the three means of Irrigation in India ? Describe them.

IRd § fa=E & @9 9@ 9reF SE-9 § 2 e i |

What is the meaning of Biome ? Name any four factors affecting Biomes.

(aWa

STiarg 1 @ 37ef § 2 Ay Skl Yuifad shid 9ol Tl =R hRehl ok o019 hifeld |

Explain any three factors responsible for deforestation in tropical evergreen forests.

IR fEeEtT TeeRd o U oA & fau STREr fosl e Shiehi ol SAREAT Shifiu |

Describe any five factors that influence the horizontal distribution of temperature.

A9 & st foaeor =61 g w0 o1l fordl dig Rehl sl U ShIfST |
OR

Describe any five characteristics of The Great Indian Plateau.

YRIEd Y8R &1 Tl i fasivaned s e Sifsg |

-000-

1+2=3

1+2=3
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